CASBEE-BD_NC_2014v3.01.xIsx A7

CASBEE-EZE(#FE)2014F R REAFEY=27 L. CASBEE-RREE(HE)20144 4R
BEE R (28) BT RBEZFDMTE [ |memEsaEasorERA mEHEY T CASBEE-BD_NC_2014(v.3.01)

RaA7—k
EYeik- LR
EEEA BRERESRHOBETTARN 2&
Q EXEVOBRERE 2.8
Q1 ERRIE 0.33 - 2.9
1 BRE 2.8 0.15 1.7 1.00 | 2.6
1.1 BE 3.0 0.42 1.0 0.50
1.2 EE 2.6 0.42 2.4 0.50
1 |FACEREE A 3.0 0.66 3.0 0.30
2 |RENEEMERE 2.0 0.34 3.0 0.30
3 |REKEFMHEGEEEER) - 1.0 0.20
4 |REREZMHEE(ESHER) - 2.0 0.20
1.3 k&S 3.0 =
2 BRIRE 2.7 0.35 2.6 100 | 27
2.1 EiR il 3.3 0.50 3.0 0.50
1 |Z=R 3.0 0.41 3.0 0.63
2 |9 ERMEEE 3.0 0.27 3.0 0.38
3 [V RIEIETE 4.0 0.32 c
2.2 R il 1.0 0.20 1.0 0.20
2.3 ZHRAK 3.0 0.30 3.0 0.30
3 Jt-1RmiE 3.0 0.25 2.8 1.00 | 2.9
3.1 B3 A 3.0 0.30 2.4 0.30
1 |BAE 3.0 0.60 3.0 0.50
2 |AERIEED - 1.0 0.30
3 |BRF AR 3.0 0.40 3.0 0.20
3.2 JL7RE 3.0 0.30 3.0 0.30
[ 1 [Bsif 3.0 1.00 3.0 1.00
3.3 B 3.0 0.15 3.0 0.15
3.4 HRBAFIE 3.0 0.25 3.0 0.25
4 BRERK 3.3 0.25 3.2 1.00 | 33
4.1 RERREK 3.0 0.52 3.0 0.63
L EEME 3.0 1.00 3.0 1.00
3.5 0.32 3.6 0.38
1 |B&=E 3.0 0.37 3.0 0.33
2 |BABRIERE 5.0 0.27 5.0 0.33
3 |RYANSATA~DEE 3.0 0.37 3.0 0.33
43 EREE 4.0 0.17 =
1 |CO,MESR 3.0 0.50 =
2 | BLE D il £ 5.0 0.50 =
Q2 H—EREEE — 0.30 5 c 3.1
1 HgetE 2.8 0.40 2.8
1.1 BEEME- LD TS 2.4 0.40
1 |- IR 4.0 0.28
2 |BEERBERERSE 3.0 0.28
3 |/\YFTYY—&tE 1.0 0.44
1.2 DEME-REHE 3.2 0.30
1 |[RER-28 3.0 0.28
2 |YILyPaZRR—R 4.0 0.28
3 |REEE 3.0 0.44
1.3 #FEE 3.0 0.30
1 |HEEEICEEBLEE 3.0 0.50 =
2 (B EERSEDOHERZR 3.0 0.50 =
2 i At - S 3.0 0.30 = 3.0
21 MR- &E 3.0 0.50 =
1| mE 3.0 0.80 c
2 |RE-HIRMERE 3.0 0.20 =
2.2 &R - EBM DO A EHK 3.0 0.30 c
1 |REME DM AEHR 3.0 0.20 =
2 [SEEEFHOBIELERR 3.0 0.20 =
3 |EEREHLTHOEHLERR 3.0 0.10 <
4 | ZERBSRIIOEFHERR 3.0 0.10 =
5 |ZH-HREKEEDEHLERR 3.0 0.20 <
6 |ETEZHERBOEFLERR 3.0 0.20 =

1/2



CASBEE-BD_NC_2014v3.01.xIsx

A7

2/2

24 {581 3.2 0.20
1 |ZPER- B ERE 3.0 0.20
2 |#aHEK - B AR 3.0 0.20
3 |BEXElE 3.0 0.20
4 |BW-REXEAE 3.0 0.20
5 [BiE-1EHEE 4.0 0.20
3 WSt - BT 3.4 0.30 N 3.6
3.1 oLy 4.6 0.25 4.6 0.50
[ [BEowey 5.0 0.60 5.0 0.60
| 2 |=Mork 8aHE 4.0 0.40 4.0 0.40
3.2 WEOWLY 3.0 0.25 5.0 0.50
3.3 RiE0FEHME 3.0 0.50 =
1 |ZEREEDEHHE 3.0 0.20 =
2 |[#EHKEDEHM 3.0 0.20 =
3 |BEREBOEHME 3.0 0.10 c
4 |BEEROEHME 3.0 0.10 =
5 |EiE#EmOEHM 3.0 0.20 =
6 |I\OTITAR—ZADHER 3.0 0.20 =

Q3 ESMRIE (BiA) _ 0.37 - e 2.5
1 &PREOREL LA 2.0 0.30 = 2.0
2 FHHEH-TBR~DRE 3.0 0.40 = 3.0
3 - FA=TA~NDERR 2.5 0.30 = 2.5

[ 31 g~ DERE. B0 m.L 3.0 0.50 -
3.2 B REMRB DML 2.0 0.50 =
R E3F0DEIE S arik

LRI TRILF— = 0.40 N X
1 BYs R oAt 2.4 0.07 = 2.4
2 BRIRILT—FIRA 25 0.12 = 25
3 Bl RTLOEIEL BEI FEEE 1.05 E%E (FHL) 083 3.4 0.58 = 3.4

EEEELS D EFE(3a.3b) 1.9 0.84 =
EAEEDEHESC) 5.0 0.16 =
4 $HERER 3.0 0.23 = 3.0
£S5 EEUSN OFFHE 3.0 0.84 =
AN =1DPZ) 3.0 0.50 =
4.2 |;ERAEEKE 3.0 0.50 =
EEEEDFHE 3.0 0.16 =
[REE=TPZ) 3.0 0.50 =
42 EREERAEG 3.0 0.50 c
LR2 ER-2TUFI — 0.30 5 e 3.4
1 KRBRE 3.0 0.20 = 3.0
1.1 &k 3.0 0.40 =
1.2 FKFIA-#KEDF A 3.0 0.60 =
1 |RAKFBACRATLEADEE 3.0 0.70 c
2 |MHEKEMACATLEADEE 3.0 0.30 <
2 EEEMEROERRHEIR 3.5 0.60 = 3.5
2.1 MFEEREDHIRE 4.0 0.11 =
2.2 FEEERREQOHREER 3.0 0.22 c
2.3 FAEMBIZETHUHAIILHOER |- 3.0 0.22 =
2.4 FEMHLUNCE TRV AL OERPETAVISHFEA S HEMICBEEM 4.0 0.22 -
25 B EMN L ERShEAH - < -
2.6 S OBFAATREMER E~ORIAA 4.0 0.22 o
3 MRS HMEOMEHE®R 3.6 0.20 = 3.6
3.1 FEVEEEFLVHHEOER 5.0 0.30 =
3.2 7Oy -/\O D EE 3.0 0.70 =
1 [EAFH - - -
2 |FEAkl(MEME) 3.0 0.50 =
3 [mE 3.0 0.50 -

LR3 51 1R 1E — 0.30 5 e 3.2
1 MBRRERIE~NDRE 3.5 0.33 = 3.5
2 EREA~N DR 3.0 0.33 = 3.0

2.1 KRB 3.0 0.25 =
2.2 BRERBELOHE 3.0 0.50 c
2.3 g1 IS5~ D AR 3.2 0.25 =
1 |@kEEKEFIER 3.0 0.25 c
2 5K E I 3.0 0.25 =
3 [3EE R 4.0 0.25 =
4 |BEEYNEEEIDG 3.0 0.25 .
3 AIRE~DRRK 3.1 0.33 c 3.1
3.1 BE-iRE-BEREOML 3.0 0.40 =
N 3.0 0.50 c
PE] - - =
3 |E 3.0 0.50 =
3.2 AE, WE. BREEZE DM 3.0 0.40 =
1 |BE 0 3.0 0.70 c
2 |RPEEDINHI <
3 |HEEZ M 3.0 0.30 c
3.3 XE DI 3.7 0.20 =
1 BARBARVERBADILAHCRNDIEADRE 4.0 0.70 -
2 |BRAEDEYMSNBIZEDRER (TLT)~DXE 3.0 0.30 -




